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div(κ grad u)− a · u = −f 7&8

� ������$������ ������	�	���	�	 Ω = {(x1, x2, x3) : l−α ≤ xα ≤ l+α � α =

1, 2, 3} ?�����
�	�
� κ, a � ��
����� f ����"
�� ��������� ����
����
x = (x1, x2, x3)� ������� ����
�� u(x) �����	
����	
 �� $����
	 Γ ������
�	�	���	�� 7�� 	$� $����� xα = l±α , α = 1, 2, 38 ���	��� �������� #��
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�
κ > 0, a ≥ 0 5����	� ���	��	 ������	 � ��1	� ���	

−κ∂u
∂n

= σ(u− uΓ) + γ, x ∈ Γ; 7C8

n / �	�
�� ��	��	� ������� � $����
	 Γ� σ, uΓ, γ / �������	 �� Γ ����
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x ,���
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�
������ (1), (2) E
� �����
� �
� � �	�
�
�������� ����	
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A u = f, 7G8
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∂

∂xα

(
Aα

∂u

∂xα

)
+A0 u = f, 7I8

$�	 A0, A1, A2, A3, f / �������	 ����
�� x 
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�������	��" �	������	���" �	
�� � ������ ��$�� Nx, Ny, Nz H

ωx = {x0 = l−1 , ..., xNx
= l+1 },
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ωy = {y0 = l−2 , ..., yNy
= l+2 },

ωz = {z0 = l−3 , ..., zNz
= l+3 }.

%��� �	
�� Ωh = ωx × ωy × ωz ��������� ��� (xi, yj, zk) ��� (i, j, k), i =
0, ..., Nx, j = 0, ..., Ny, k = 0, ..., Nz. � ����� �	
�� Ωh ���	�	�	�� �	�

����	 ����
��H �
	��
�����	 �������	��	 u� ������ ���
� f � ������
��
	�
� A0, A1, A2, A3� �	����� r = f − Au #�� �	
�� ωx �	�	���� �
�	���
[xi; xi+1], i = 0, ..., Nx − 1 ��������� ��� xi+1/2� �����$����	 �������	���
yj+1/2, zk+1/2 ��������	� ��� �	
�� ωy, ωz #������
	���� ������
�	�
�
A1, A2, A3 �������"
�� �� ��
	��	���� ��		� ��
	$��������� � ���
�	
����
"1�� @����
	���B 
�����H A

i+1/2, j, k
1 � A

i, j+1/2, k
2 � A

i, j, k+1/2
3  +�	���

���
�	�� ��	 ��
	�����
�����	 ���
	���� ����	
� A1, A2, A3 � ���������

����� / �
� ������
�	�
� �������"
�� ���� ��� ��	��		 �����	
��	���	�
���� ��� ��	��		 $�������	���	 ���
�	
�
��"1�� ������� ����	��� ?����
��
�	�
� ���	��$� ������� σ, β, γ ����"
�� � ������ �	��1�� �� $�����
������	�	���	�� '�����	�� �� $���� x = x0 ����
�� σ, β, γ ������ � �����
(0, j, k)� �����$���� ���	�	��"
�� $�������	 ����
�� �� ��
������ $����� 

)�	�� �
���� �	
���� �������� ��
	$����� �������	 �����	��	 �� ��	��	
(i, j, k) : [xi−1/2; xi+1/2] × [yj−1/2; yj+1/2] × [zk−1/2; zk+1/2]. %�������� ��	��
� ���		� �
� 	��� ����	��	 �	
����$� ���	��� ������
 �� $����
� �����
�
���	�	�	���� 
� �
�
 ���	�� �������	
 �������		 ����	��	 � ��	�	�������

� 	�
� x−1/2 = x0� xNx+1/2 = xNx

� x−1 = x0� xNx+1 = xNx
� 
 � +��1���

�	�
� $���	� ������ ��	��� ��������� ���

Si+1/2,j,k =
1
2(yj+1 − yj−1) · 12(zk+1 − zk−1) ≡ Sx

jk,

Si,j+1/2,k =
1
2(xi+1 − xi−1) · 12(zk+1 − zk−1) ≡ Sy

ik,

Si,j,k+1/2 =
1
2(xi+1 − xi−1) · 12(yj+1 − yj−1) ≡ Sz

ij.

3�(	� ��	��� (i, j, k) ��������� ���

Vi,j,k =
1

2
(xi+1 − xi−1) · 1

2
(yj+1 − yj−1) · 1

2
(zk+1 − zk−1). 7J8

E
� ������� ���$���� � ��� ����� (i, j, k)� �	��1�� �� $����
	 �����
�
Ωh� 
�� ��� ����	��� ���	����� ���	���� �� $����
� �����
�� ���	�	�	�� 

)�������	 ������	�	��	 � ����
����
�	 �	
����� ����
�� Uh� ��������
�� �	
�	 Ωh ���	�	��	
�� �
�����
��� �������H

(u, w) =
∑
i,j,k

ui,j,kwi,j,kVi,j,k, 7<8



i

$�	 ����� �	�	
�� �� ��	� ����� �	
�� K	
����� L2(Ωh)������ �����
�� ���
�	��
��� ‖ u ‖2= (u, u). �����	��	 7<8 ����	
�� �	
����� �����$�� �������
��$� ������	�	��� � L2(Ω)� � 	$� �����	���� �����$ �� �	
�	� ������	�� ωx

��		
 ���

(u, v) = u0v0
h1

2
+ u1v1

h1 + h2

2
+ ...+ uNx

vNx

hNx

2
, 7&=8

$�	 hi = xi − xi−1, i = 1, ..., Nx.

����������� ��� ������ +��
���� �	��
��	���" ��	�� �	
���� ���
����� � ������" ��
���� �� ��
	��	���� 7$�����8 ��		�H

−qi+1/2,j,k + qi−1/2,j,k − qi,j+1/2,k + qi,j−1/2,k − qi,j,k+1/2 + qi,j,k−1/2 +

+ (A0)i,j,k · Vi,j,k = fi,j,k · Vi,j,k,

7&&8

$�	 qi±1/2,j,k, qi,j±1/2,k, qi,j,k±1/2 / ��
��� �� $����� ��	��� (i, j, k) +�� ������
������
�	�
�� ��	�� ��������	� ��������" ���	��
�" ����� ������� ��
��	��"1�� ���
�	
�
��	�H

3→ (i, j, k), 2→ (i− 1, j, k), 4→ (i+ 1, j, k),

1→ (i, j − 1, k), 5→ (i, j + 1, k), 0→ (i, j, k − 1), 6→ (i, j, k + 1).

+�� 
���� ���	��
�� ��	�� ��� �"��$� ���� (i, j, k) ��		
 ���H

c0u0 + c1u1 + c2u2 + c3u3 + c4u4 + c5u5 + c6u6 = b0, 7&C8

$�	 ���	 ����	�	� ����� ��� ������
�	�
�� c0, c1, ..., c6 � b0 ) ����1�"
�
�� ������
�	�
�� �������"
�� ��
��
� � ������ ���
� ���
	�� �����	�
��� �� ������ �	
����� �����	 

����� �
 ��
������� 
����� 5����	� �
�����
��" ����������
�"
��
��� q = A1ux �� ���
�	��	� ��
	��	����� $���� x = xi−1/2 ��	���H

qi−1/2,j,k � A1ux

∣∣
x=xi−1/2

· Si−1/2,j,k � A
i−1/2,j,k
1 · ui,j,k − ui−1,j,k

xi − xi−1
· Sx

j,k.

5�������� �����$���� ��
��� �	�	� ��	 $���� ��	���� � ������ ���
�	��	�
���	 (i, j, k) ������	� I�
��	���" ��	�� ���� 7&C8 � ������
�	�
���

c2 = Qi−1/2,j,k =
A

i−1/2,j,k
1

xi − xi−1 · S
x
jk, c4 = Qi+1/2,j,k,

c1 = Qi,j−1/2,k =
A

i,j−1/2,k
2

yj − yj−1 · S
y
ik, c5 = Qi,j+1/2,k,

c0 = Qi,j,k−1/2 =
A

i,j,k−1/2
3

zk − zk−1 · S
z
ij, c6 = Qi,j,k+1/2,



j

c3 = −
6∑

i=0, i 	=3

ci + a0, a0 = (A0)i,j,k · Vi,j,k, b0 = fi,j,k · Vi,j,k.

� �����	 ���	��� ������ #�����	 ����	�	���	 ������� ����
��	��� ���	��
��"
 ���
��	��	 ������
��� ��	��L ���
�
���� ��	�
� $�������	 ����	����
������	�� ���	��� �����" ���
� � ���$�������� ��	���� 

����� �  �������� 
����� 6��� ��	� (i, j, k) $��������� 
� � �����	
������� #�����	 ����� ������
� � ���
	�	 7&C8 �����	��	 ui, j, k = uΓ, 
 	 
���
�	
�
��"1�� ���� (i, j, k) ���$�������� ��	�	�
 ��
��
� ������
� ����
��� &� � ���
�	
�
��"1�� ��	�	�
 ������ ���
� f ������
� ������ uΓ 

3��	�	��� 
�� ���	��$� ������� � ������ �	��1�� �� �	���� ������	�
�	���	�� Ω +���	�� �
� �� ������ �� 	$� �	�
� $���	�� ������ ���	��	
������	 
����� ����$� 
���H ���� ������	 #�����	� ���� ������	 
�	
�	$�
���� 7C8� ���� ��������� ���"��� � ������	 '	����� +�����	� �
�� ����
�������� ���	�� 1, 2 +��
� �	��� ����	
�� �
���� $���	� � ���	���� �����
����� � ���	���� Kp, Kq !�$�� ��� 
���$� �	��� 
�� ���	��$� ������� 	�
�
min(Kp, Kq) #�� �	����� ������	�	���	�� Ω� ����"1	��� �
���� �	�	� �
���	���� ��������� K1, K2, K3 
�� ���	�	��	
�� ��� min(K1, K2, K3) #��
����� �	��1	$� �� �	��	 � ������	� #�����	� $�������	 ����	��	 ���	�	���
	
�� ���	��	��	� ��	� ����������� � �
��� ���� $�������� ����	��� 

+���	�	� ������
�	�
� ��	�� 7&C8 ��� ���� (0, j, k)� �	��1	$� �� $����
x = x0� � �����	 ���	��$� ������� 7C8 2��
� ������
�	�
�� ��������	
��
�����H

c2 = 0, c4 = Q1/2,j,k, c1 = Q0,j−1/2,k,
c5 = Q0,j+1/2,k, c0 = Q0,j,k−1/2, c6 = Q0,j,k+1/2,

7&08

� ������
�	�
� c3, a0, f0 ���	�	��"
�� ����������
�	� ��
���

q0,j,k = A0,j,k
1 · ux |x=x0

· Sx
j,k .

� ���� ���	��$� ������� 7C8 ��� ������ $����
� ������	�

−A0,j,k
1 · ux |x=x0

= σ(u− uΓ) + γ,

��	����
	�����
q0,j,k = −(σ(u− uΓ) + γ)0,j,k · Sx

j,k, 7&:8

$�	 ��	 �	
����	 ����
�� σ, u, uΓ, γ ���	�	�	�� � ���	 (0, j, k) +��
���

c3 = −
6∑

i=0, i 	=3

ci + a0, a0 = (A0)0,j,k · V0,j,k + σ0,j,k · Sx
j,k,

b0 = f0,j,k · V0,j,k + (σ · uΓ − γ)0,j,k · Sx
j,k.

7&>8



k

M����$���� �������"
�� ������
�	�
� ��	�� 7&C8 ��� ��	� ��
������
$���	� Ωh � �����	 ���
������ �� ��� ������� 7C8 

��
����� �������������� +��
��	���" �����	
���
�" ���	��� ������
� ����
����
�� �	
����� ����
�� Uh ���	� ��������
� � ��	��
����� ���	

Ah uh = fh. 7&G8

;������� ����	�	�
������� ��	��
�� A ��������������� ��	��
���� Ah�
��
��
� ��
���$� ������� � ������
�	�
��� c0, c1, ..., c6 ��	�� 7&C8 ��	��"�
1�� �������H ������ �
���� ��
��
�� �
�	��"1�� ���� �	
�� (i, j, k)� ���
�	���
 �	�� �	���	��� ��	�	�
�� c̃m = cm/Vi,j,k, m = 0, 1, ..., 6 �� ���
�
�	
�
��"1�� �	�
�� +����� ���
� fh ��	�� 7&G8 � ���	 (i, j, k) ���	�	��	
��
�����$����H (fh)i,j,k = b0/Vi,j,k +�� 
���� ���	�	�	��� ��	��
�� Ah ����	
��
����������	���� � ��������� ������	�	��� 7<8 

;���	������	 �����
� ���$��	
����$� �	
��� ��1	�
�	��� �����	
�� ��
��	�
������� ������ ������
��� ��	��
���� ���	��� ����� !���� ������
�����	� � -C.� -0.� -&&.� �
���� �� �	�	 �	���������
� �� ���	� �������
�
�����	 ��	�	��� 5�	�� �
�	
��� �
� ����
�	���	 ����	��� ��	��
��� Ah

�	��
 �� �
�	��	 [λmin; λmax] �	1	�
�	���� ���L λmin ≥ 0� 
�� ��� ��	���

�� Ah ����	
�� �	�
��
�
	��������	�	�	���� #�� ������	���� ������
'	����� λmin = 0 � Ker Ah 7���� ��	��
���8 ����	
�� �����	���� �������
�
����
���� ���
��1�� �� �	
����� ����
�������
��
 

'�������� �
� ����� ���	���$� ��	��
��� D� �	��
��"1	$� �� Uh � Uh�
���	�	��	
�� ��� ‖ D ‖= max ‖ Dz ‖ ��� ‖ z ‖= 1� � ��� ����������	���$�
��	��
��� ����� ����� ������������� �� �����	� 	$� ����
�	���� ����	��� 

��	�	���" �	������	���" �	���
��� �	
�� ���	� �����
	������
� �����
�	
��� h� ���	�	��	��� ���	��
���

h2 =

3∑
α=1

h2
α,

$�	 hα− ��	��	������
����� ��$ �	������	���� �	
�� �� �������	��" xα 
!�����
� ���
��	���� ������
��� ��	�� 	�
� O(h2) � ����	 ��������� �����
�� �� ����	����
	�����
� �	
��� ��� ��
���� 
���� ������� ������
�	�
��
κ, a, f �� ������� ��������
���� �������	��" ����"
�� ������ �	
�� -&C. 

! "�����  ����� ����
���
 
 
#����
��

M�����
��� �
	��� $����
 ��	�
�� ��	��	����	
 ���	�
�����
� �
	��
����
��$� �	�	��� �����	��� �� ����� $����� �	
�	 � �$������
	�	�� ����������
�� �	���	����� �
	��
��� '�� ����� �	 ������� $����	 �
	��� ��� λmin

7�����8 � λmax 7��	���8 



Hl

"����� ��$���  ������ 5��	
��� �
� �	
�����
� �
	��� λmin ���	

����	�
� � ���	��	��" ��������
� �	���	����� �
	��
��� �� �	 �������

� �� ����������
�� 	��� λmax �
	��
� ��	��� -&&. +�� �����	��� �
	���
������	��� ���1	��	��	� �� �������	���� xα� α = 1, 2, 3 )������ ����
�	�	� �
	��� ����	� $����
� ������
��$� �����$� �����	���$� ��	��
���
−∂/∂xα(Aα∂/∂x

α) ��� ���	��� �������� ���� 7C8 3���
�� ���	�� α � �����
�� �������	��� xα � ���$�� �����$����� �������	���� *�����
��� ���	��	
�������

κ
∂u

∂n
= σ(u− uΓ) + γ ��� x = l− � x = l+.

3��������
σ0 = min

x=l−
σ, σ1 = min

x=l+
σ, l = l+ − l−.

!�$�� ������ $����
� ������
��$� �����$� ��	��
��� −∂/∂x(∂/∂x) ��� ����
������ ���	��� �������� ��		
 ��� -&&.

γmin =
8(σ0 + σ1 + lσ0σ1)

2

l(2 + lσ0)(2 + lσ1)(2σ0 + 2σ1 + lσ0σ1)
. 7&I8

E
� ������� ���	���
 ��	 �����	 ��	�	����	 �	�	����� ��	���1���� ���
σ0, σ1 → +∞ 7������� #�����	8 � ������� γmin = 8/l2. !����� ������ $���
��
� ����	�	�
������$� ��	��
��� ��� �	���� ���	��� ������ ����� π2/l2�

� 	�
� �
	��� 7&I8 ����	
�� �	 ������� $����� +�� σ0 = σ1 = 0 �� 7&I8
������	� γmin = 0, � ��� σ0 → +∞ � σ1 = 0 ��		� γmin = 2/l2.

�������	� �� ������	 7&I8 $����
� λ
(α)
min, α = 1, 2, 3 ��	� 
�	� ��	��
����

�� �������	���� � ������� ����"" $����
� @��������$�B ��	��
���

λ̄min = min
x∈Ωh

A1(x) · λ(1)
min + min

x∈Ωh

A2(x) · λ(2)
min + min

x∈Ωh

A3(x) · λ(3)
min.

'����� $����
� ��	��
��� Ah ��		
 ���

λmin = λ̄min + min
x∈Ωh

A0(x). 7&J8

6��� λmin = 0, 
� ��	��
�� ����	
�� ������	���� !�� ��� �
	��
�� �����
�� �������
��� �� �������
����
�	� ��
�$�������� ����� 
� � ���	�
�	 ����
�	� $����
� ��	��
��� �� �
�� �������
����
�	 ��	�
� λmin = 0 �	�	�
����������	 �� 
�	� ����	���H

λmin = 8 ·min [ min
x∈Ωh

A1(x) · l−21 , min
x∈Ωh

A2(x) · l−22 , min
x∈Ωh

A3(x) · l−23 ]. 7&<8

"����� �������  ������ +�� �����	��� �
�� �
	��� 
���	 ��������
��	��� ���1	��	��	� �� �������	���� 3��	�	���

λ(α)
max = 4 ·max

x∈Ωh

(
Aα(x) · h−2α (x)

)
, 7C=8



HH

$�	 hα(x) / �	�	�	���� ��$ �� �������	��" xα, α = 1, 2, 3 4���������
�
	��� �	���	� $����
� ������
��$� ��	��
��� ��		
 ���H

λmax = λ(1)
max + λ(2)

max + λ(3)
max +max

x∈Ωh

A0(x) . 7C&8

3
	��� �� �������	���� ���$���
�� ��� ����
���������� �$������
	�	� 
4��������" �
	��� ����� 
���	 ���	�	��
� �� 
	��	�	 4	��$����� -&>. 

% &�
 
���
���� ���
�

"'(�� ����� �������
	����� 
����	����
� �
	��
�����$� �	
��� �	�	�
��� ���
	� ���	���� �����	��� ���	�	��	
�� ������ �����	
��	���� ��	�
��
��� ��
������	��� �� ��	���	��	 ����� �	����� �
	��
�����$� �������
�	��� � �������	 ����� ��� 6��� 
����	����
� �	
��� ������
 ���	��� �

����� �	���	�
���� 
� 
���� �	
�� ����	
�� ��
�������� +���	��� ����
��
 ���$��	
����� �	
�� * + ,	���	���� ��
���� ��� ������
��� ������

��	���� ����� ����	
�� ��
�������� +��
��� �
�
 �	
�� ����	
�� �	����
��	
	��	�
�� �� ����
�����	���
� +��
� ����� �	��
� ���
	�� �	
�����
�����	���

Ahuh = fh, 7CC8

$�	 Ah/ ����	�	���� N ×N/��
��
�� uh, fh / ������� � �������� �	
����	
����
�� ���
�	
�
�	��� ;������ �	
�� � �����	
����� ��	��
���	���� 
 	 
����	� �	�	��� � ��������� �	
�� �� ���$�" �	
��� ������	��" $����� 
3�(	�
� �
�� �	
�� ���	� �
�	��
� ��������� � � � ���
�	
�
�	��� !�$��
�
	����"1�� ��	��
�� ��		
 ��� 7�� -G.8

Q = Sp(I − PA−1H RAh)Sp , 7C08

$�	 Ah� AH / ��	��
��� 7��
��
�8 �� ��������� � $����� �	
��� ���
�	
�
�
�	���� � � R / ��	��
��� ��
	�����
�� 7�������	���8 � ������ 7���	�
��
�������8� Sp / �$������"1�� ��	��
��� p / ����� ��	� � ���
��$������"1��
��$�� � ������ ����
	 ��	��
�� AH �
���
�� �	�����	
���
�	�� 
� 	�
� ��
H−�	
�	 ��������	
�� ����������
�� �������$� �����	��� 7&8 � ��������
���� ���	���� ���������� � � ���	�
�	 ������ ���
� �	�	
�� �	������ ���
���	���� ���	�
�������	� �	����� rh = fh − Ahuh �� $����" H−�	
�� �
����1�" ��	��
��� R *���	��"1�� ��	��
�� ���$��	
����$� �	
��� ��	�
	
 ��� C = (I −Qm)A−1h � $�	 m / ����� �
	��
�� ���$��	
����$� �	
���L �
	$� ����1�" ����� ��������� ������
� �	�	��	 � ���	 uh = Cfh 

3�(����� 
�	������� � ��	��
���� �	��	
����� �	�	����� � � � '��
������ -G.� �
� ����	�
 mP �����
��� ��
��������� � ���	� ���� 	��� ���

	�����
�� 
���� �� ��������� �
	�	�� kL ����	�
 mR �����
��� � ���	�



HF

������� ������	���$� ��	��
��� R∗ #�� ��	��	�	��� ���
�
����� �������
��������
� ���$��	
����$� �	
��� ��� ����	�	�
������$� ��	��
��� ���
����� d 
�	��	
�� ������	��	 �������

mP +mR > d. 7C:8

+�	��������� �
� �	�	�	���	 �� ��������� �	
�	 ���	�	��"
�� � ����1�"
���	���� ��
	�����
�� $�����	
����� �	�	�	����� � � ���	�
�	 ��	��
��
�� ������ � ���
� 
���	�
�	���	 �
�����	��	 7������� 
���$� ��	��
���
mR = 0� 
�� ��� ������	���� � �	�� �	 �������	
 ����
��
�8 � �
�� ����
��	 ��	��
�� P 
��	� �� ���	���� ����
���� 
 	 	$� ������� mP = 2� ��
��	����
	����� ��� �����	��� �
���$� ������� 7&8 �	���	��
�� 7C:8 �	 ������
��	
�� ?�� �������� ������������	 �	��	
����� ��	��
���� ���		 ������$�
������� �	 �������
 � ���	
���� �����	��" ��������
� �	
���� ���
��� ��
�$��������� ��������� mP = 2 � mR = 2 

5��	
��� �
� ��� �	�����	
���
�� ���$��	
����� �	
�� ���	
 ��
� ���
��
���������� � � 
���	�
�	���� �
�����	��	� � ���	�
�	 ��	��
��� R 
'� ��� ����	�����
� �� ��	� �	
����� ������� ������	���� ������ '	��
���� ���
��	��� ����� ����������
� � ���	�
�	 R ��	��
��� ������	����
� ��	��
��� ��
	�����
��H R = P ∗ 

� ����� 7C08 ���$��	
����$� �	
��� �����
 �$������"1�� ��	��
�� Sp 
+��
� u, v / 
����	 � �������	���	 �	�	��� ������ 7CC8 �� �	
�	 �"��$�
������� ����	 ����� $����� +��
	���� �$���������� 
 	 �	�	��� �
 ����
����	��� v � ���		 N$�������N �������	��" v̄� ��������	
�� ��	��"1��
�������H ��	��
�� Sp 
	��1�" ������ ε0 = v − u �� p ��$�� �$���������
��	������	
 � ������ ε1 = v̄ − u � $�	 ε1 = Sp ε0 #���� ������� ���	��
��
	����	 ��(���	��	 �	��
��� �$������"1	$� ��	��
���� ����������� ��
�������	���� 
	���� ���$��	
����$� �	
���� �� -&. / -0.� -G.� -&:. *�����
���
����
�	���	 ����� � ����
�	���	 �	�
��� 7�	
����	 ����
��8 ��	��
��� AhH

(λn, ϕn) : Ahϕn = λnϕn, n = 1, ..., N, λ1 ≤ λ2 ≤ ... ≤ λN .

9���	�
�� ����
�	���� ����	��� ����������	���$� ��	��
��� Ah �	��

�� �
�	��	 [λmin; λmax] �	1	�
�	���� ��� 9� ���
�	�� �
� λmin > 0� 
��
��� ������ ������	���� ������ '	����� �����
�� � ����	������" �����
�
��	��
���� �� �������
����
�	� ��
�$�������� ���� � ������ ����
	 � ���	�
�
�	 Sp = Sp(A) ���	� ������
����
� ���$���	� ��� ���������
��������"
����
�" ��� ���	� �	1	�
�	���� ���	�L 
�$�� ��	��
�� Sp ����	
�� �������
����	���� � 	$� ��	�
�� 
� 	�
� ����
�	���	 ����� / �
� ����	��� ����
��
Sp(λ) �� ��	�
�	 ��	��
��� Ah ;�������� ������	��	 ��������� ������



HE

ε0 = v − u � ��� ,���	 �� ����
�	���� ����
��� ��	��
��� Ah� �������H

ε0 =

N∑
n=1

cnϕn, ε1 =

N∑
n=1

cn
nϕn, $�	 
n = Sp(λn).

#�� ��� ����� �	 �
�	����	 ����
�	���	 ����	��� 7��� ��� �	���	�
��8�
� ���	�	��	 ����
�� ��
������ 
(λ) = Sp(λ) �� ��	�
�	 ��	��
��� Ah� 
�
	�
� �� �
�	��	 [λmin; λmax] 4������ ����
�� ��
������ ��� ���������
�$������
	�	� �������� � ����	�	 G 

���	�	� $����
� λ∗min� ����	��"1�" ��	�
� �� ��	 ���
�H [λmin; λ
∗
min) /

��������
�
��� ���
�� [λ∗min; λmax] / ���������
�
��� ���
� ��	�
�� ��	���

��� � ���
�	
�
��� � �
�� �����	��	� ����
�	���	 ����
�� ����	��"
�
�� �� ��	 $����� / �� ��������
�
��	 7$�����	 ����8 � ���������
�
��	
������	�
� 7�	$�����	 ����8� � ���
�	
�
�	���� ��	 �������
����
�� �	
���
��� ����
�� ��	��
����	
�� ��
�$�������� ������ ���� �������
����
� 
;�	��������� ��	��������� �
� ��� �����	
����$� ��	��
���	��� 7C08 $���
���	
����� ����	�
�� ����	
�� 
����� � ����	 ��
	�����
�� � �����	 �	

$������ ��� !�$�� ���	�
����� �$������
	�	� ���	
 ��	��
����� ���$��
��	� Fp(Ah)� $�	 Fp(λ) / ���$���	� 2	���	��� ����	�		 ������"1���� �

���� �� [λ∗min; λmax] � ������������� ������	� Fp(0) = 1 9����������	
����	��	 | Fp(λ) | �� [λ∗min; λmax] ������
 �
 p � ���	�	��	
 ������
� ������
���
� ���$��	
����$� �	
��� '� $������ ���
� ��	�
�� | Fp(λ) |< 1� 
� 	�
�
�$������
	�� ����	
�� �����1���� �
	��
������ �	
���� 

'� ����
��	 ��
��
�� ���	
 �
����
��� �
 ��	������ +��
��� �� �
���
�� � ����	��	� ��� ������
	��
������ �$������
	�� +	���� / ������

�
�����
��� �	���	����� �
	��
�� � ������	� $����
� λ∗min 3��������
	$� ��� Cheb(p) = Cheb(p, λ∗min, λmax) 

�
���� �$������
	�� / ��	�� A;�9 -I. / ��	��
����	
 ����� ��	
�������
������
 �	���	����$� �
	��
�����$� �	
��� 3�������� �
�
 �$������
	��
��� LIM(p) = LIM(p, λ∗min, λmax) #�� �	$� ������	�
� ������ ��	����"
�
�� �� [λ∗min; λmax] ����
��	��� ����� ������
�������� ����	��" λ� $�����	
������	�
� 
��	 �����"
� �� �	��	��� 

4����
� λ∗min ���	�	��	
�� �� �	��
���� �������	���� ��������� ����
�	� ����	��� λ∗min, λmax / ���� ��� �����$� �	
����$� ������� �� �
���	��	
$����
 ���	
 ��
� ���������� +����� � �
���	��" λ∗min � ���
	��	 ����
$��	
����� �
	��
�� ������
�	� � ����
	 ->. 

+��
	���� Cheb(p) 
���	 ��������	
�� ��� �	�	��� �����	��� �� �����
$����� �	
�	 ��� ������� � ���	�
�	 ����	� $����
� �	������ λmin� ���
���	���� � ����	�	 :� 
� 	�
� ��������	
�� �
�����
��� �	���	����� �
	�
��
������ �	
�� -&&. F �	�	�������������	� ��
�������� �
	��
������



Hh

�����	
��� ��� ��	��	�	��� �������
	����� ��
�������
� 2���� p �	���
�	����� �
	��
�� � �
�� �����	 �������	
�� �� ������� ��	���	��� �����
�	����� �
	��
�����$� �������	��� � �������	 ����� ��� 

+�� ����	�	��� �$������
	�� Cheb(p) ��� LIM(p) ����� ��$�� p � �����
�	���	����� �����	
��� �� ������	� 
��� �
��� ��	��	��
� ��$��	��	 ���
�������
�
��� ������	�
 � �	������� ���� ������	�� � ����
�� ���� � ����

������ �����	 ����� p = 2 ÷ 3 ������	
�� �	��
��
	���� �	�������� �� ���
�����
������ ����� 7��� ��
���� �� ���	� ��
� �����	�
�	���" �
	���
�
	�	�� �����
����� ��� �
����
� $����
� λ∗min � ���
	��	 ���$��	
�����
�
	��
��8� ����� �$������"1�� ��$�� ���	
 ��
� ���
�
���� ���	
����
p � 100 '� � ��$���
���	���� 
���� ��	��� ��� 
�	��	���� �����
������
����� 
���� ������ � �$��������" ����	
�� ����� ����
�� �� ���	�
���
��� #�� ����	���� ����� ����� �����������
��� �������������	�	����
���$������ �� ��� 
�	��	���� ����� ��	 ����� $�������� �	�����
�� ��
�������
�� Oxy, Oxz, Oyz ;���	������	 ���	�
�����
� �	���	����$� �
A;�9 �$������
	�	� � �����
������ ������� ����	�	�� � ->. 

+�	��������� ��� ����
�
� �����	���� �
� �������� �	
��

ωx = {x0, x1, x2, ..., xNx
}, ωy = {y0, y1, y2, ..., yNy

}, ωz = {z0, z1, z2, ..., zNz
},


������ �
� Nx = 2nx, Ny = 2ny, Nz = 2nz. '����� � ��������� h−�	
���
ωh = ωx × ωy × ωz ������
��� ���		 $����" H−�	
��� ��
���� ������	
��
�� h−�	
�� ����	������	� ����� �� ������� �������	��"� ������	�� ���
����	������� �	�	� ���� ��	� ������	� H

ωH
x = {x0, x2, x4, ..., xNx

}, ωH
y = {y0, y2, y4, ..., yNy

}, ωH
z = {z0, z2, z4, ..., zNz

},
� 
�$�� ωH = ωH

x × ωH
y × ωH

z  
"#����
� �����#
����� )#�
�
�$����* P ��	�	� ��	��
�� ��
	��

����
�� P � ��
���� �	
����" ����
�" UH(x, y, z) �
������	
 � �	
����"
����
�" uh(x, y, z) +�� ��$��	�
�� (x, y, z)� �� ��������	��	� ���� ��	�
$����� ���� ��	� ��������� �	
��� � �
� ����
�� �� ���
	��
� +�� �����
�� ������ ��
	�����
�� � ������ ���������	��� 
	�� �
� 
�	��	���� �	
��
��	��
����	
 �����	 �	���
��� ������	�	��	 
�	� �����	���� �	
�� '����
�	� xh−����	� ����� ����� (x0, y, z), ..., (xk, y, z), ..., (xNx

, y, z) �	
�� ωh� ����
��$���� �����
�� ���$�	 ��������
��	 ����� 3�	��
�� P �	�������� ��	�
��"1�� ������� 
& %�	� (x, y, z) ∈ ωH  !���	�
�	���� �	�	���H uh(x, y, z) = UH(x, y, z).
C %�	� (x, y, z) ∈ ωh� �� �	 ����	
�� ����� �	
�� ωH  3�����
�� 
���� �����
���
��
 �� �	�������� �
���� 

)������ ������
���	� xh−������ ��
���	 ����	
�� xH−������� !���	
����� �	��
 � �������
�� z = zq ∈ ωH

z  +��
� (xH
1 , y, z) � (xH

2 , y, z) / ���



HI

���	���� ���� $����� �	
��� �	��1�	 �� ������ ����� 9	��� ���� �	��

m ����� ��������� h−�	
�� 7m ≥ 18H

(xh
1, y, z), ... , (xh

m, y, z), xH
1 < xh

1 < ... < xh
m < xH

2 .

!�$��
u(xh

k, y, z) = (1− d) · UH(x
H
1 , y, z) + d · UH(x

H
2 , y, z), 7C>8

$�	 d = (xh
k − xH

1 )/(x
H
2 − xH

1 ), k = 1, ..., m.

5�
	� ������
���	� yh−������ �	��1�	 � �������
�� z = zq ∈ ωH
z  +��
�

(x, yH1 , z) � (x, yH2 , z) / ��� ���� h−�	
��� �	��1�	 �� xh−������ y = yH1 � y =

yH2 L ����	��� �	
����� ����
�� � 
���� ����� ��	 �����
��� �� ��	����1	�
�
��	 9	��� ���� �	��
 ����

(x, yh1 , z), ... , (x, yhm, z), yH1 < yh1 < ... < yhm < yH2

h−�	
��� � � �
�� ����� ����	��� ����
�� ������
�� �� �������� ���	����
��
	�����
��� �����$����� 7C>8 

; �����	
� ������
���	� zh−����� ? �
��� �
��� ��	 ���
��	�� �
���
���	��	 UH(x, y, z) → uh(x, y, z) ��� ��	� �������
	� z = zq ∈ ωH

z $�����
�	
�� !	�	�� ��
	�������	� �� ����� $����� �	
�� ����� ��	� zh−����� 

���	��������� ��$���
� ��	��
����	
 ����� 
�����	���" ��
	������

�" �	
����� ����	���� ���	�	�	���� � �	������ $����� ��	��� � ����
��������� �	
��� �������	 � �
� ��	��� 5��	
��� �
� ��	��
�� P �	 �	��	

�� ��������� �	
�	 ����	��� �	
����� ����
�� � ����� $����
� � ������	�
#�����	 � 
���� ����� ��
	������
 �������� ���	� ���" 

3�	��
�� ��
	�����
�� ����� ���
���
� � ������������	� ������
�	��

�� �����	��� 7
�� ������	��� ��	��
�������������� ������������8 9�
���	� ��������
��� �
�����
��� ��	��
���� ��
	�����
��� 
�� ��� ��	��
�� 
���� ��	��
�� P � ������	���� 	�� ��	��
�� ���	�
�������� R = P ∗

��	��	����"
 ������	��	 ������� ����	�����
� ������	���� �����	
���
������ '	����� �� ��	� �	
����� ������� ���$��	
����$� �	
��� 

"#����
� �'
��� )#�
�����
�����* + 3�	��
�� ���	�
�������� R

�
������	
 ����
�" uh(x, y, z) �� h−�	
�	 � ����
�" UH(x, y, z) � �	���
����� ��� ���	�	�	��� �	����� �� $����� �	
�	 3�	��
�� R �	 ����	
�� �
$�������� ����� h−�	
��� 	��� � ��� ������ ������	 #�����	 

3�(����� ������ ���	�
� ��������� � ������	���� �����	� '	����� 7&8�
7:8 � ���� �����	
���
�� 7&&8 �����$�� ������� 7>8 ����	�����
� ���	���
������ ����	
�� ������
��	 ���
���	��	 �� ��������� �	
�	H∑

j,k

(γNx,j,k − γ0,j,k)S
x
jk +

∑
i,k

(γi,Ny,k − γi,0,k)S
y
ik +

∑
i,j

(γi,j,Nz
− γi,j,0)S

z
ij =

=
∑
i,j,k

fijk · Vijk.
7CG8



HG

#	��
��
	����� ��� ������������ �����	��� 7&&8 � �	����
�
	 ��������	

�����1	��	 ��
���� �� ���
�	���� ��
	��	���� ��		�� � � �	��� ���
� ���
�	��
�� ��
���
�� 
����� ����� ��
���� �� �	�
� $����� �����
� Ω 

5����	� ��� ������	���� ������ '	����� �� ������������ uh �	����� r
���
	�� ������
��� �����	��� � ������	�
���H rijk = (Ah ·uh−fh)ijk. !�$��
������	 ����	�����
� 7CG8 ����� ������
� � ���	∑

i,j,k

rijkVijk = 0. 7CI8

!� 	�
�� �	����� ��
�$������� 	�������� �	
����� ����
�� � ���������
������	�	��� 7<8H (r, c)h = 0  E
� �����
� �
� ��� �����	 �	����� �� $���
��" �	
�� �����
�� ��
�$��������
� 7CI8 �	����� ����� �������
� ��� ��	��
�	�	��� ����	�
���
� �	
����� ������ �� $����� �	
�	 #�� ������	�����
���	�
�����
� ����	 ����
��� �	� �������
	����� ���
	���� ���	�
����
����� �	����� �� �������
����
�� Im Ah� 
�� ��� 
���	 ���	�
�������	 ���
�	���
 $��������" ��	��
�" / ����	
 ��������$� ������	�	��� M�
���
��
�	���	 ��	��	�	��	 ��
�$��������
� 7CI8 �	����� �������	
�� ��� ���������
����� ��	��
��� R� ������	���$� � ��������� ������	�	��� 7<8 � ��	��
���
��
	�����
��H R = P ∗ 

#	��
��
	����� 	��� �� ��������� �	
�	 �	����� r ��
�$������� 	������
��� �	
����� ����
�� c = (1, ..., 1)h � 
� � ���� 
	����� ���	��
�

(R · r, C)H = (r, R∗ · C)h = (r, P · C)h = (r, c)h

������	�� (R · r, C)H = 0 ��� �	
����� ����
�� C(1, ..., 1)H +���	��		 ���
�	��
�� � 
	����	 �����	������ 
�� ��	��
�� ��
	�����
�� P 
��	� �� ���
�	���� ����
���� � �����
 � �� ����
��
�� 

?�� ���
���
� 
���� R� �
� R = P ∗� ���	
 ��(���	�� ���	 ��� �	
������
������	 �����	� ������	���� � �	������	���� �	
�� 

,���
������ ������ 3D ��
��� +�	��	 �	� �����
� ��1�" ����
����

�" ��	��
��� R� ������
��� ���
��	 ������� � ��
���� ������	����
� ��	�
��
���� ��	��	����	
�� ���
�
���� ����
� )������ ������
��� ������	��
��" �� ������� �������	��" �	
��� � ���
� ��� ����
�
� H = 2h 5����	�
������� ��	��
�� R �� ���
�	��	� ���	 � ��������� ����	 -G. #�� �����
�	���$� ������

R =
1

4
· [1 2 1].

+���	�	��	 R � �	
����� ����
�� uh(x) ������	
� �
� � ���	 x $����� �	
��

UH(x) =
1

4
· [uh(x− hx) + 2uh(x) + uh(x+ hx)].



Hi

) ����1�" ����1	��� �
�$� ������� �	
����� ������
� ��������	 �����
��� 2D � 3D �����	�� �� -G. !�� ��� 2D ������	�

R =
1

16

⎡
⎣ 1 2 1

2 4 2
1 2 1

⎤
⎦ .

+���	�	��	 �
�$� ��	��
��� � h��	
����� ����
�� � �������
� (x, y) � ���	
$����� �	
�� (x, y, z) ������	
� �
�

UH(x, y, z) =
1

16
[ u(x− hx, y + hy) + 2u(x, y + hy) + u(x+ hx, y + hy)+

2u(x− hx, y) + 4u(x, y) + 2u(x+ hx, y)+

u(x− hx, y − hy) + 2u(x, y − hy) + u(x+ hx, y − hy) ] .

#�� 0O ������ ��	��
�� R ��		
 � ��������� ������ ��	��"1�� ���

R =
1

64

⎡
⎣
⎡
⎣ 1 2 1

2 4 2
1 2 1

⎤
⎦

⎡
⎣ 2 4 2

4 8 4
2 4 2

⎤
⎦

⎡
⎣ 1 2 1

2 4 2
1 2 1

⎤
⎦
⎤
⎦ .

!���� ������ ������	
� �
� ����	��� ����
�� UH = Ruh �� $����� �	
�	 �
���	 (x, y, z) �������	
�� �� �������H

UH(x, y, z) =
1

64

⎧⎨
⎩
⎡
⎣ 1 2 1

2 4 2

1 2 1

⎤
⎦uh(x, y, z − hz) +

⎡
⎣ 2 4 2

4 8 4

2 4 2

⎤
⎦uh(x, y, z)+

⎡
⎣ 1 2 1

2 4 2
1 2 1

⎤
⎦ uh(x, y, z + hz)

⎫⎬
⎭ ,

$�	 ������������ ����	���� ��������� ������� ��	 ��(���	���� ���	 
,���
������ ������ 1D ��
��� +���	�	� ��
������ ��� ��	��
����

��
	�����
�� P � ���	�
�������� R �� ������	���� �	
�	H

R =
1

4

⎡
⎢⎢⎢⎢⎣

2 2 0 0 · · 0

0 1 2 1 0 · 0
· · · · · · ·
0 · · 1 2 1 0

0 · · 0 0 2 2

⎤
⎥⎥⎥⎥⎦ , P =

1

2

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

2 0 · · 0
1 1 0 · 0

0 2 0 · 0
· · · · ·
· · 0 2 0
0 · · 1 1

0 · 0 0 2

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
.

+���
�� ����	����� ��������� ���	�	�	��	� 7&=8� ��	���	���� �
� ��	���

��� P � R ������	�� P = R∗ � �	
����� ��������� ������	�	��� 



Hj

-�����
������ ������ 1D ��
��� *�����
��� �	
�� � ��$��� hi =
xi−xi−1� i = 1, ..., n � $����" H��	
��� �����	���" �� h��	
�� ����	������	�
�	�	� ��	�� 
� 	�
� ���
���	��	 H = 2h ��		
 �������� ����� 3�	��
�� P

�
���� ������� �������H 	��� ��	� � ���	��� i �� h��	
�	 ����	
�� �����
� ���	��� k $����� �	
��� 
� ui = Uk; 	��� �	 ��	� i �	��
 �	��� ������
(k−1) � k $����� �	
��� 
� ui = (Uk−1hi+Ukhi−1)/(hi−1+hi). #�� ��	��
��� P
�����	� �� h��	
�	 ��� u ∈ ωh

x, W ∈ ωH
x ��������	 ������	�	��	 (u, PW )h

�� ������	 7&=8H

(u, PW )h = u0W0
h1

2
+ u1

W0h2 +W1h1

2
+ u2W1

h2 + h3

2
· · ·+ unWm

hn

2
.

+�	������	� �����" ���
� ���	��
�� � ����

u0h1 + u1h2

2
W0+

(u1h1 + u2h2) + (u2h3 + u3h4)

2
W1+. . .+

un−1hn−1 + unhn

2
Wm.

#�� ��	��
��� R �����	� �� H��	
�	 ��� ����
�� u ∈ ωh
x, W ∈ ωH

x �������
��	 ������	�	��	 (Ru,W )H �� ������	 7&=8H

(Ru,W )H = U0W0
H1

2
+ U1W1

H1 +H2

2
+ · · ·+ UmWm

Hm

2
.

#�� 
�$�� �
��� ��� �����	 �	����� �� $����" �	
�� �"��$� ������ ������
��
� �����
�� ��
�$��������
� 7CI8 7�
� �	�������� ��� ����	�
���
� �	�

����� ������8� ��
�	��	� ������	��� ���	��
�� ��	�	���� ��������� ����
���	�	���H (Ru,W )H = (u, PW )h. 3
�"�� ��	��	
� �
�

U0 =
u0h1 + u1h2

H1
=

u0h1 + u1h2

h1 + h2
,

U1 =
(u1h1 + u2h2) + (u2h3 + u3h4)

H1 +H2
=

(u1h1 + u2h2) + (u2h3 + u3h4)

h1 + h2 + h3 + h4
,

� 
 � E
� ������� 	�
� ���	�	�	��	 ��	��
��� R �� �	������	���� �	
�	 
-�����
������ ������ 3D ��
���� #�
��$������ ����� 
��� #��

�	�����
�� � 
�	��	���� �����	 ���������	��� 
����
	�� ���
��	���� ��
�����	 �����	���� ������ !����
� ���	���
 ������ � ��	� $����� �	
��
����	��� �	����� � ����� ��������� �	
�� ��� ����� ��	��	 $����� �	
��

q(0, 0, 0) = hz
k · hy

j · hx
i ← r(i, j, k),

q(0, 0, 1) = hz
k+1 · hy

j · hx
i ← r(i, j, k + 1),

q(0, 1, 0) = hz
k · hy

j+1 · hx
i ← r(i, j + 1, k),

q(0, 1, 1) = hz
k+1 · hy

j+1 · hx
i ← r(i, j + 1, k + 1),

q(1, 0, 0) = hz
k · hy

j · hx
i+1 ← r(i+ 1, j, k),

q(1, 0, 1) = hz
k+1 · hy

j · hx
i+1 ← r(i+ 1, j, k + 1),

q(1, 1, 0) = hz
k · hy

j+1 · hx
i+1 ← r(i+ 1, j + 1, k),

q(1, 1, 1) = hz
k+1 · hy

j+1 · hx
i+1 ← r(i+ 1, j + 1, k + 1),



Hk

��	�� hx
i = xi+1 − xi 	�
� i−�� ��$ h−�	
�� �� �������	��" x� � 
 � +��

����	������� � ��$�� & �	������	���� �� ������� �������	��" �	
�� ���
����	
� ���	�
�� �	����� � $����� ��	� (i, j, k)H � �
�	��"1�� ���� (i, j, k)

��������� �	
��� ����� ������� �������
� ������ ��	� ��		� $����� �	
���
��	"1�� � ���	�
�	 �	����� ��	� (i, j, k) 7
���� ��		� ���	
 ��
� �����
��	� �	
��	 ��� ���	��8 '�����	�� ��� ��	��� {xi ≤ x ≤ xi+2, yj ≤ y ≤
yj+2, zk ≤ z ≤ zk+2} ����� � �	����� rH(i, j, k) � ���	 $����� �	
�� (i, j, k)H
������
�� �� ������	

rH(i, j, k) =
∑

l,m,n=0,1

q(l, m, n) · r(i+ l, j +m, k + n). 7CJ8

+���	 ������	��� ������� ��	� �����1�� � ��	� (i, j, k)H ��		� $����� �	
���
�
� ������ �������"
�� � �	��
�� �� ����� ��(	��� ������
����� ��		�
$����� �	
�� E
� ����� ���	
 ���"��
� J� :� C ��� & ��	��� � ���������
�
�
 �����	��� ���� (i, j, k)H  

-�����
������ ������ 
'(�� 1D ��
��� *�����
��� �	������	��
��" �	
�� � $����" H��	
��� �����	���" �� h��	
�� ������������ ����	���
����	� ?���
���
�� ��	��
��� ��
	�����
�� P �	
����� ������� � �����	
�����$� ����	�	 7�� ������� 7C>88 ?�� ������� 	��� ��	� � ���	��� i ��
h��	
�	 ����	
�� ����� � ���	��� k $����� �	
��� 
� ui = Uk. *�����
���
��	� � ���	��� i � ��������
�� xi� �	��1�� �	��� ������ (k−1) � k $�����
�	
�� 3�������� L / ����
����	 �	��� �
��� ������ $����� �	
�� +��
�
�� �
�	��	� ��	����"1	� ��������	 ��� ����� �	��
 m + 1 > 1 ����� ���
������� h−�	
��� ���"��� ���
�H x0 < x1 < ... < xm. ��	�	� ��� �����
��
��������" ���
	�� ��������
� � ��
���� x0 = 0, xm = L 3�������� W0,W1

/ ����	��� ����
�� W � ����� x0 � xm ���	 ��� ���
��	��� ��	��
��� R

����	����
�������� 
	������ �� ������� ��
���� ����
��� �
� ��	 ������
�
�	��� ����� �������
� ��� ����$� �	
����$� ��
	����� $����� �	
�� E
�

����� 	�
� ��	��
��	 ����
�����
� ������� ��� ��������$� ������	�	��� 
5����	� ������� �����	���� ��
	�����
�� � ���	

w(xi) =
1

L
((L− xi) ·W0 + xi ·W1), 7C<8

$�	 i = 0, ..., mL �� ���
�� ��
	����� w(x0) = W0, w(xm) = W1 #�� ��	��
��
�� ��
	�����
�� �����	� �� �
�� �	
����� ��
	����	 ��� u ∈ ωh

x, W ∈ ωH
x

��������	 ������	�	��	

(u, PW )h =
1

2
u0W0x1 +

1

L

m−1∑
i=1

ui (W0(L− xi) +W1xi) +
1

2
umW1(xm − xm−1)



Fl

��� � ��	
�� �����
�$� ��$���	��� � 
��� �
� x−1 = x0, xm+1 = xm�

(u, PW )h =
1

2L

m∑
i=0

ui (W0(L− xi) +W1xi)(xi+1 − xi−1).

+�	������	� �
� �����	��	� ������� �������	 ��	�� �
����
	���� W0,W1H

(u, PW )h =
W0

2L

m∑
i=0

ui(L− xi)(xi+1 − xi−1) +
W1

2L

m∑
i=0

uixi(xi+1 − xi−1).

!�� ���

(Ru,W )H = U0W0
L

2
+ U1W1

L

2
,


�

U0 =
1

L2

m∑
i=0

ui (L− xi)(xi+1 − xi−1), U1 =
1

L2

m∑
i=0

ui xi(xi+1 − xi−1).

-�����
������ ������ 
'(�� 3D ��
��� +��
��	��	 ��	��
��� ����
	�
�������� � ��1	� �����	 �����
�� � ������������" ����	�	���� ������ 
*���	
 ���	�	���� ����� ���� 7CJ8 ����� ��
	���	
�����
� ��� ������
���
��" ������� ����	
� ��
	$���� �� ��	��	 $����� �	
�	 � ����1�" �������
�	��� ������$��������� ����	�	���$� ��� 
�	��	���$� ������ 

,�.����  �
'
���
���� 
��������� #�� �	�	��� �����	��� �� ���
��� $����� �	
�	

AH · y = gH , 70=8


� 	�
� ���
	�� �����	��� F ��
��
	� AH � �	������ gH � ���	�
�	 ������
���
�� ��������	� �
�����
��� �	���	����� �
	��
������ �	
�� -&&.H

yj = yj−1 − ωj(AH · yj−1 − gH), j = 1, ..., p, 70&8

$�	 y0 / �������	 ��������	 �������	��	 7� ������ �����	 ���	��	� 
�� ���
�����	��	 70=8 ��������	
�� ��� ��������8� ωj / �������	 �
	��
�����	 ���
���	
�� +��
� ���	�
�� $����
� λmin, λmax ��	�
�� ��	��
��� AH  5�����
� �����	 ��
�������� �����	
��� �������
 � ���
��	��" ���$���	�� 2	�
���	�� P ���� Fp(λ) �
	�	�� p� ����	�		 ������"1	$��� �
 ���� �� �
�	��	
[λmin, λmax] � ������������$� ������	� Fp(0) = 1 9��$���	� Fp �	$�� ���
����	
�� �	�	� ���$���	� 2	���	�� Tp(x) �� �
�����
��� �
�	��	 [−1, 1]� �
��
���� �
������	
�� �
�	��� [λmin, λmax] ��� ���	�	

x =
2

λmax − λmin
·
(
λmax + λmin

2
− λ

)
.

9��$���	� Tp(x) ����� ������
� � ���	

Tp(x) = cos(p arccosx), |x| ≤ 1; Tp(x) = cosh(p QFRSTx), |x| > 1.



FH

;� ������� ���������� ������	�

Fp(λ) = Tp(x)/Tp(
0), $�	 
0 =
1 + η

1− η
, η =

λmin

λmax
. 70C8

3�
�������	 �����	
�� βj ���	�	��"
�� ������ �������� 2	���	�� Tp

βj ∈ Kp = {cos 2i− 1

2p
π, i = 1, 2, ..., p} , 7008

��������	����� ��� ��
�������
� -&&.� �� ������	H

ω−1j =
λmax + λmin

2
+

λmax − λmin

2
· βj, j = 1, ..., p. 70:8

�	����� $����
� λmax ���	�	�	�� � 7C&8 � ���	�
�	 ����	� $����
� λmin

�����	� ���� �	������ 7&J8� ����� � �����	 ������	���� ������� �	������
7&<8L �
� �
	��� �	 ������
 �
 �	
�� 

?��
	��	� ������ ����� �
	��
�� p ����	
�� ���
��	��	 �������� 
���
���
�H ||rp|| < ε||r0||, $�	 r0, rp / ��������� � ���	���� �	����� 3
	��� �����
�
	��
�� p = p(ε, η) ��		
 ��� 7�� -0.� -&&.8H

p(ε, η) ≈ ln
(
ε−1 +

√
ε−2 − 1

)
/ ln ρ, $�	 ρ =

1 +
√
η

1−√η ; 70>8

��	�� η / ����� ��������	����
�� ���	�	�	���	 � 70C8 
/ ��$���0(�� ��������� *�����
��� ���
	�� �����	��� 7CC8� �����

�����" �� ����� �� �	
����� �����	�� �� ����"�	��	� ����� $����� �	
�� 
+��
	���� �$���������� 
 	 �	�	��� �
 
	��1	$� �
	��
�����$� �������	�
��� v � ���		 N$�������N v̄� ��������	
�� � ����1�" ��	��
��� �$���������
Sp� ��
���� 
	��1�" ������ ε0 = v−u �� p ��$�� �$��������� ��	������	

� ������ ε1 = v̄ − u : ε1 = Sp ε0 E��	�
�����
� �$��������� ������
 �

������ $����
� λ∗min� ����	��"1�" ��	�
� �� ��	 ���
�H [λmin; λ

∗
min) / ����

�����
�
��� ���
�� [λ∗min; λmax] / ���������
�
��� ���
� ��	�
�� ��	��
��� 
��	�	� �����	�
�	���" �����
	���
���� �����" ��� ��� ������ λ∗min  

3��������
γmin = 0.5 ·min(λ(1)

max, λ(2)
max, λ(3)

max),

$�	 λ
(α)
max, α = 1, 2, 3 / �
	��� 7C=8 �	����� $����
 ������
��� ��	��
����

�� �������	���� Ox� Oy� Oz � ���	�
�	 �������� �����
	���
��� � ������
����
	 �����	� �
���	��	

η1 =
γmin

λmax
, $�	 λmax = λ(1)

max + λ(2)
max + λ(3)

max. 70G8

#�� ������ λ
(1)
max = λ

(2)
max = λ

(3)
max �����	���	 ����$���	 ����	��	 η1 = 1/6

	�
� ����1	��	 �������� ��$����� ��
����� � �����	���� �����	 � �	$������
���
� ��	�
�� �
����
�� ���
�
� λ > 0.5λmax 
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�������� ��
��
��� ��$�� �����������	 �����	
�� ����
��	��� ������
����H λ

(1)
max ≈ λ

(2)
max ≈ λ

(3)
max, �� ����	
 � η1 = 1/6 �	 �������
 � ���	�
������

��$��	��" �	$������ ��� !���� ����	� ��	
 ������ �� �	
�	� ��
���� �$��
1�	
�� �
 
	�
�� �� ��	� $����� �����
� Ω �� ��	� �������	���� ��������� 
)�1	�
��"
 � ���$�	 ����	��� ��$�� �	
����� �����
����� �U��� �����
���
��� � ������
�	�
�� �	��	
 ����� λ∗min 
������ '��
����� �$������
	�	�
� �����	 �����
������ ����� � ����	�� �	�	��� 
���� ����� ���� � ->. 
5�	�� ����	��	� �$������
	�� � �
�����
��� ��
��
��� 

1�'�.������ � ��$���0(�� �������� '� ���������
�
��� ����
�
�	 ��	�
�� [λ∗min; λmax] �

λ∗min = η · λmax, $�	 η = min(
1

6
, η1), 70I8

� η1 ���	�	�	�� � 70G8� �����	� �	���	����	 �
	��
�� ���� 70&8/70:8 � ���	�
�	��� ����� p = p(ε, η) �� �������� 70>8� �� � ������ ��������	����
� η ��
70I8 !�$�� �� [λ∗min; λmax] ������	�
� ��$�	����
� ��	����"
�� � �������	
����� ε−1 > 1 ��� 

3�	��
�� �$��������� Cheb(p) = Cheb(p, λ∗min, λmax) ����	
�� ���$���	�
��� 2	���	��� ����	�		 ������"1	��� �
 ���� �� �
�	��	 [λ∗min; λmax] 6$�
��	�
�� ���� ���$��� �������� ����
�� ��
������ 	�
�

ρCheb(λ) = Fp(λ). 70J8

#�� ���
��	��� ���$���	�� Fp ����� ����
� ����	��� λ∗min, λmax, ε 3�����
���
�
���� ����
� ε = 0.5� � 
�$�� ��� ���
�����$� ������ � η ≈ 1/6 �����
��	� p = 2 +�� ε = 0.7 ������	� p = 1L 
���	 �$��������	 ��	��	����	

��
��������
�� �� �� �����		 ����� ���$��	
����� �
	��
�� 

+	�	��� �
 �	$�����$� �������	��� v �� 
	��1	� ��������� �	
�	 � ���		
$������� �������	��" vnew �����	� � ��	��"1	� ���	 

& 5���	� ��������	 �������	��	H
0
y = vh� $�	 ����
�� vh ����� 
���	�

�
�	��� ���" �� �
���� ��	���$��������� ��� ��	� �	
��� ����	 ��������� 
� ��
������ ������� vh / 
	��1		 �
	��
�����	 �������	��	 

C �������	� $����
� λmax ��	�
�� ��	��
��� Ah �� ������	 7C&8 
0 �������	� $����
� λ∗min � ����� η � ����1�" ������ 70G8 / 70I8 
: �������	� �
	�	�� p ���$���	�� 2	���	�� �� ������	 70>8� 	$� ����

7008 � �
	��
�����	 �����	
�� 70:8 
> +������� 
��� �	���	����� �
	��
��H

yj = yj−1 + ωj(Ah · yj−1 − fh), j = 1, ..., p. 70<8

G *	����
�
 p/� �
	��
�� 	�
� ����	 �������	��	 � �	�	��"H vnew =
(p)
y  
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234& � ��$���0(�� �������� #�� �$��������� ����� ���������
��
� ��	�� ��������� �
	��
�� -I.� ��
���� � ����
�� ����	��� ����	
��
���		 ��
��
��� �� �����	��" � �	���	����� �$������
	�	�� �� � �������
��
��
��� A;�9 �$������
	�� ���	
 ��	��	����
� ���		 ������" ������
�
��������
� ���$��	
����� �
	��
�� ��� �	����� ��
��
�� V������ ����
�	��� ����"
�� �����
�����	 ������ � ���
�����	 ������ ��� $����� �
	��
�	 ����	� $����
� ���������
�
��� ���
� ��	�
��� �� ����	� G 

#�� �	�	���� �
 �	$�����$� �������	��� v �� 
	��1	� �	
�	 � ���		 $����
���� �������	��" vnew �	���	 
�� �
��� ��	����1	$� ��$���
�� ���
����
"
�� 3�
�����	 �
��� �������	��"
�� 

: ������	� �
	�	�� ���$���	�� p 2	���	�� #�� �
�$� ������� �������
$�
	����� �����	
�H

τ =
1

λ∞

(⌈
16p2/π2

⌉− 1
)
; 7:=8

��	�� �x� ��������	
 ����	���		 
	��	� �����		 ��� �����	 x 
> �������	� ���� ���$���	�� 2	���	�� �� ������	 7008� ������������

�� ��� ��
�������
�� ����	� 
��� �
� β1 = z1 = cos(0.5π/p) .
G �������	� �
	��
�����	 �����	
�� {am, m = 1, ..., p}H

am = λ∞(z1 − βm)/(1 + z1).

I +� ���
��	����� ������ �
���� ���$�� ����� �� 2p− 1 �����	
���

{b1, ..., b2p−1} ≡ {a1, ..., ap, a2, ..., ap}.
J � 
���	 �� m = 1, . . . , 2p− 1 �������	�

(m)
y =

1

1 + τbm
{v + τbm ·

(m−1)
y − τ(Ah ·

(m−1)
y − fh)}.

< *	����
�
 2p−1/� �
	��
�� ����	� ����� �������	��	�H vnew =
(2p−1)
y .

)$������
	�� A;�9� ��������	��� ��� LIM(p) = LIM(p, λ∗min, λmax)�
	�
� ���������
��������� ����
��

Sν = (I − F 2
p )(I + τAh)

−1, 7:&8

$�	 ν = 2p − 1 5�	�� Fp(λ) 	�
� ������� 2	���	�� & ����� ����	�		 �����
��"1���� �
 ���� �� �
�	��	 [λ0; λmax]� $�	

λ0 = λmax
z1 − 1

z1 + 1
∈ [−1

τ
, 0],

� ������	� ���������� Fp(−1
τ ) = 1 '� �
�	��	 [0, λmax] ��		�H

|Fp(λ)| ≤ 1, Fp(0) = 0, |Sν(λ)| ≤ 1. 7:C8



Fh

� �
����	 �
 �
�����
��$� �	���	����$� �	
��� ��� �������� p �	������
λmin �	 ����	
�� �����	
��� �	
��� 7:&8 / 7:C8 !���� ���$���	� Fp ���
��	�
� -J.� � ����
���
�� ���� 7:&8 �	
����� ����	������ � -I. 

+������ Fp �	$�� ������	
�� �	�	� �
�����
��� ������� 2	���	��H

Fp(λ) =
Hp(λ)

Hp(−1
τ )
, $�	 Hp(λ) =

m=1∏
m=p

(am − λ) = Tp(z1 − z1 + 1

λmax
+ λ);

��	�� Tp(z) = cos(p arccos z) / �	���	����� ������� �
	�	�� p �� �
�����
�
��� �
�	��	 [−1; 1]� � ��
���� �
������	
�� �
�	��� [λ0; λmax] ��� ���	�	
z = z1 − (z1 + 1)λ/λmax. )�	�
� �$������"1	$� ��	��
��� 7:&8 	�
�

ρLim(λ) =
1− F 2

p (λ)

1 + τλ
. 7:08

� ���� 7:C8 ������	� ��	��"1�" �
	��� ��� ����
�� ��
������ ρLim(λ)H

0 ≤ ρLim(λ) ≤ 1

1 + τλ
. 7::8

�����	� �
	�	�� ���$���	�� 2	���	�� p 
��� �
��� ������	�
� ��$�	����
�
�� �
�	��"1�	 ����
�� ��	�
�� [λ∗min, λmax]� ��	�������� � �������	 �����
ε−1 > 1 ��� ;�������� 7:=8� ������	�

p =
π

4

√
(ε−1 − 1) · η + 1. 7:>8

+���
����� � 7::8 �����	��	 7:=8� �������� �
� �� ������ ���
	 ��	�
��
��
�����	 ���� ���	�	��	
�� �����
	�	� ρLim(λmax) ≤ π2/(16p2)� 
� 	�
�
�$��������	 ����	 �	���	����$�L �� �	��� ���
	 ���������
�
��� ���
�
��	�
�� ���
�$�	
�� �������� ������
� �������� ε−1 

5 ������� ������
�

&
���6��� ������ �7 
�������� �
���
��

uxx + uyy + uzz = f(x, y, z), (x, y, z) ∈ [0, 1]3, 7:G8

� ���	���� ��������� #�����	 708� '	����� 7:8� ��� ��
���� ������	 ����
��	� ��� � ������ ���
� f � ���	�	��
�� �� ��������� �	�	��"

u(x, y, z) = (cos k1x+ cos k2x) · (cosm1y + cosm2y) · (cosn1z + cosn2z), 7:I8

$�	 k1 = m1 = n1 = 2, k2 = 4, m2 = 8, n2 = 16 
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� 
��� & / 0 �������
�� ����� ���$��	
����� �
	��
�� m ��� ������
�
����	��� �$������
	�	� 7����� ��$�� �$��������� ���������	 �� ������
�	
����� �����	8� ��	�� ��	
�� �
	��� ������
� ��������
�

ρ = m
√
rm/r0, 7:J8

$�	 r0, rm / �	
����	 ����� ��������� � ���	���� �	����� ���
�	
�
�	���L
���
��	��	 ��������
� ���
������	
�� �� ������" rm < tol · r0 F ��������

�����
�" tol = 10−7 !�����
� �	�	��� $�����	
����� �����	��� ��������
������ � ��������	 ctol = 10−3 − 10−5 5�
��
� �� �	�	��	 $�����	
�����
�����	��� ������ ���
����"
 �
 ���	� ���
	�
� �� �	�������� ���
	�
��
��1�� ��
��
L � ���������� ����	
�� ctol = 10−5 � 
��� & / 0 ����	�	��
��	�� ��	
� �� ����� ���
	����	 W�&== ;+9 �� 9 � ?	����� *M' 

3�(	� ������	��� ��� ���������� �	����
�
�� �
	����	
�� ��� V �
const · N · S� N/ ����� ����� �	
��� S / ��������	 ����� �$������"1��
��$�� � m �
	��
��� ���$��	
����$� �	
��� +�� ���
������ ������ ���
$�� �$��������� ��������	 ����� �$������"1�� ��$�� S = 2p · mL ����
��$ ����	��� �������	�
	� ����	
� �	����� +�� ����	
	 ������
	�� S ���
�$������
	�� A;�9 ��
	��� �
� ��� �������$� p � ���
	���	 LIM(p) �����
�$������"1�� ��$�� ν = 2p− 1 

� 
��� & ����	�	�� �����
	���
��� ��� ������ #�����	 � ������	����
������ '	����� � �	���	����� �$������
	�	� Cheb(p) ��� p = 2 +����
�	���� ��	���� ������
� ��������
� ρ ≈ 0.15 � ρ ≈ 0.17 ���	� �	� 
	��	�

��	���� ������
� ρ ≈ 0.20 �	
��� � �����	
����� ��	��
���	��� � �����
��$��� 
��	���� �	�����
�	� -G. ������ �
� ����� �
	��
�� m �	 ������

�
 ����	�� �	
�� N � � ��	�� ��	
� ���
	
 ������
�������� N � ��	���������
����	��� � J ��� ��� ����	��� ����� ��$�� �� ������� �� 
�	� �������	��� 
'� ��� & �������� 
������	 ���	�	��	 ����� �	����� � ���	 ���$��	
�����
�
	��
�� ��� �	
�� N = 5123 ��� ������ #�����	 � ������	���� ������
'	����� 

� �����	 �	���	����$� �$������
	�� Cheb(p) ��� p = 1� 
� 	�
� ��� ���
����������� �	
��� ����
�� �
	��
�� � ������� �����	
��� ��
�������$�
��� ���������
�
��� ���
� ��	�
��� � 
���� �	 ����	
�� ������	� ������
�
��������
� ρ = 0.5� ����� ���$��	
����� �
	��
�� 24 − 25� ��	�� ��	
�
�������	
�� � �
�� ��
��
�� �����	���	 �	����
�
� �����	�� ?��	�
��
�$������
	��� ���	��	��	 ��� ������
� �������� �	$������ ������	�
� ���
�
����	
 0.7 � 0.35 ��� p = 1 � p = 2 ���
�	
�
�	��� 

*	�	��	 � �������� 
�����
�" ��������� ������ �
�����
��� �	���	��
���� �	
���� �� �	
�	 � ������ ����� N = 5123 ������	
�� �� &>= ����

� 
�	��	
 5271 �
	��
��� 
 	 ���$��	
����� �	
�� � ������ �����	 ��	
 >=�
���
��	 �����	��	 



FG

number of iterations
0 2 4 6 8

10-3

100

103 Dirichlet

Neumann

@�/� H� �������� ���������� ������������� ��������

3
�	
��� �
� ��1	�
�	���� �����
� � ��������
� ���$��	
����� �
	���

�� ��� ������������ ��������$� �������	��� 7:I8 ��� ��������������
���	��� ������� �� $����� �����
� � ����	
�� �	 ����"������ 

����� �� ����

����
�
� ���	����
� 	�� ��	��� � �

�  ��!��"# tol = 10−7# ctol = 10−5# ���$%�!�
�" �&��'�!�
��(# p = 2

5����� #�����	 5����� '	�����
)	
��� m, ����� ρ ��	�� m� ����� ρ ��	��

����� ����� �
	��
�� ��	
�� �	� �
	��
�� ��	
�� �	� 

643 < = &:> = 0C < = &0G = 0=
1283 < = &>G C >= < = &G= C >=
2563 < = &>C C& = &= = &GI C: =
5123 < = &:0 &I: = < = &GG &I> =

� 
��� C ����	�	�� �	����
�
� ����	
� ������ '	����� �� �$������
	����
Cheb(p) ��� p = 3 � A;�9� ���
��	���� �� �����	 ���$���	�� 2	���	��
�
	�	�� p = 2 � ������ ��$�� �$��������� ν = 2p− 1 = 3 !�$�� ��
��
� ��
�$��������	 ��� ���� �
�� ���
	��� ��������� 4����
� �	$������ ���
�
��	�
�� λ∗min ��� ������ ���	����� ������ �$����� �	���H λ∗min = λmax/6 
� �
�� �����	 �	���	����� �$������
	�� ��	��	����	
 ���		 ������" ����
���
� ��������
�� �	� A;�9 
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����� )� ����

����
�
� ���	����
� 	�� ��	��� �

2	� �$������
	��� p = 3 )$������
	�� A;�9� ν = 3
)	
��� m, ����� ρ ��	�� m� ����� ρ ��	��

����� ����� �
	��
�� ��	
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